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0O O 0O OO O O given another name, meteors. The meteorsare soon falling so fast that friction frompassing
through the atmosphere heats themand they melt, providing a spectacularshow called shooting stars. Usually,
meteors are small and bum up completely in theatmosphere. Those that do reach the ground are called
meteorites. Most meteorites are small, but some very large ones have been found and can be seen in science
museums. What would happen if a large meteor crashed into a body of water, such as a lake, bay or ocean
Would it cause a wave and raise the level of the water[]

The heaviness of an object depends on its mass, how dense it is [0 how much it is packed together . A Ping-Pong
ball is about the same size as a golf ball, but a golf ball is much denser, so has more mass.With size equal, which
would cause a high-er wave, a meteorite with less mass or one with more massC]

From a hypothesis that, if two mete-orites were about the same size and moving at about the same rate of speed, the
one having the more mass would create a bigger wave. Prove it.

Page 5



00004, tushu007.com
<«<OdJ00O000O00- gogooogogdg oos

goon

Page 6



00004, tushu007.com
<«<OdJ00O000O00- gogooogogdg oos

goon

gobboooboupbDFODODDODOOOO0O0O0OO0OOOODOOO

0000000 :http://www.tushu007.com

Page 7



